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9 step series, sample and surround mean grey U40 is 00 dark, adjust U40 to U41 witi).50.
0 10 20 30 a0 60 70 8

adjust visual equal difference for the intended Grey U41 between White W and Black N
0 a1

adjusted spacing

<=rgb*out <=1

one experimental value

P0&=0,59
real gamma value
yeei= 0 [0,50] / og [eg] =1,333
inverse gamma value
yinv=l0g [e0d] / log [0,50] =0,750

surround Grey: U40

adjust visual equal difference for four of 9 steps.
[ — 62

22 72

[750.47 1] 2750.50]

adjusted spacing
0 <=r1gb*out <=

050.50]

075, 0.70p05. pza, pas. pes
surround Grey: U41 0,62,0,60

based on the value
Po&=0,59.

adjust visual equal difference for the intended Grey U41 between White W and Black N
0 T

adjusted spacing
0 <=rgb*out <=1
one experimental value

Pos=0,
real gamma value:

=1og [0,50] / log [eg] =1,333
inverse gamma value
yiny= log [e0g] / log [0,50] =0,750

surround Grey: U40

adjust visual equal difference for four of 9 steps
22 32 T

(50,47 1]

adjusted spacing
0 <=rgb*ou <=1

075, 0.70pg5, paa, pas. pes

surround Grey: U41 0,62, 0,60
based on the value save 7 data above as text

P0g=0,59.

TUB-test chart ieb8; Adjacent and separated grey sgigs)

Output linearization and thresholds for the 9 step equally spaced colour series
Y

9 step series, sample and surround mean Grey is U41, all samples are lighter based @#@59.
0 11 21 31 a1 61 71 8
adjust visual equal diference for two of 5 steps
22 a1

(170,601 (75040

adjusted spacing
<=1gb*out <= 1
0,75, 0,70p04, pag
surround Grey: U41
based on the value
P0§=0,59.

ieb80-2a, image 2, produce (p) equal visual difference between two of fiveyates75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @@59.
0 11 21 31 a1 61 71 8
9 step series based on all visual adjustments used for output linearization
a | 62 72 8
NE ,87 1,00
save 7 data above as text

save 9 data below as text
004 ]

000 @012 =025 @=037

12 22 32 41 62 72 8

000 =012 =025 c3=037 =050 05=0,62 c=0,75 ¢;=0,87 1,00

adjust and proof threshold of
o e S the linearized outpu

restart with image 1

difference visible?

ieb80-4a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all ggy0775
9 step series, sample and surround mean Grey is U41, all samples are lighter based @=@59.
0 1 21 31 a1

adjust visual equal diflerence for two of 5 steps

adjusted spacing
0 <=rgb*out <=1

0,75, 0,70p04, pas
surround Grey: U41

based on the value
Pog=0,59.

ieb80-6a, image 2, produce (p) equal visual difference between two of fiveygtes75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @#@59.
o 11 21 31 41

9 step series based on all visual adjustments used for output linearization
12 32 E 7:

=025 =037 X X @=0,75
save 9 data below as text
22 32
€1=0,12 3=
adjust and proof threshold of

restart with image 1

difference visible?

ieb80-8a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all ggy=l?775

9 step series, sample and surround mean grey U40 s t0o dark, adjust U40 to U41 witlg# 50.
0 10 20 30 40 60 70 8

adjust visual equal difference for the Tntended Grey U41 between White W and Black N

 gotonextimage2 |
adjusted spacing
<=rgb%out <= 1
one experimental value:
Pog=0,59

real gamma value
wrel= Iog [0,50] / log [ee] =1,333
inverse gamma value:

vinv= log [eue] / log [0,50] =0,750

surround Grey: U40

adjust visual equal difference for four of 9 steps
32 41
(225050 - 050 155050
go to next image 4
adjusted spacing
0 <=rgb* gy <=

0.75, 070002, paa, pas, Pes
surround Grey: U41 062,060
based on the value

Pog=0,59.

save 7 data above as text

ieb81-3a, image 3, produce (p) equal visual difference between four of nineyg{eps,5
9 step series, sample and surround mean grey UA0 is 100 dark, adjust U40 to UAL witkd.50.
0 10 20 30 40 60 70 8

adjust visual equal difference for the Tniended Grey U41 between White W and Black N
a1
Pos-IEERI
adjusted spacing
0 <=rgb*ou <= 1
one experimental value
Pog=0,
real gamma value:
yrel= log [0,50] /log [eg] =1,333
inverse gamma value:
vinv= log [eog] / log [0,50] 0,750

surround Grey: U40

12
(175047

adjusted spacing
0<=rgb*ou <=1

J120,50 - (50,50

0.75, 070002, pa, pas. pes

surround Grey: U41 0,62, 0,60
save 7 data above as text

based on the value
P0g=0,59.

ieb81-7a, image 3, produce (p) equal visual difference between four of nineygfeps,5

75, colour numbers

9 step series, sample and surround mean Grey is U41, all samples are lighter based @@59.
0 11 21 31 a1 61 71 8

adjust visual equal difference for two of 5 steps

go to next image 3
adjusted spacing
<=rgb*ou <=1

0,75, 0,70p04, pas
surround Grey: U41

based on the value
Pog=0,59.

ieb81-2a, image 2, produce (p) equal visual difference between two of fiveygtes75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @#@.59.
0 11 21 31 a1 61 71 8

9 step series based on all visual adjustrients used for output inearization

0 12
000  @=012 =025 =037 =050 =062 =075 =0,87 100
save 7 data above as text

save 9 data below as text
(+0.04 1}

[ 12 22 32
000 =012 =025 3=0,37 =050 c5=0,62 ¢=0,75 C;=0,87 1,00

. adjust and proof threshold of
O e e the linearized output

restart with image 1

difference visible?

ieb81-4a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all grE0775
9 step series, sample and surround mean Grey is U41, all samples are lighter based g#@.59.
o 11 21 31 a1

adjust visual equal difference for two of 5 steps

(2120401
adjusted spacing
0<=rgb*out <=1
0.75, 0.70p04, pag

surround Grey: U41
based on the value
Pog=0,

ieb81-6a, image 2, produce (p) equal visual difference between two of fiveystes75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @@59.
0 11 21 31 41

9 step series based on all visual adjustrients used for output linearization

0 12 22 32 a1

0,00 @=0,12 =025 =037 &=050 =062 &=0,75 ¢=0,87 1,00
£+0.04 7I+0.04 ENIG G T G.04 TI-0
- ] || u
0 12 22 32 a1

0,00 =012 2=0,25 3=0,37 =050 ¢5=0,62 ¢=0,75 ¢7=0,87 1,00

. adjust and proof threshold of
+0.08 |l i CHt) the linearized output

restart with image 1

difference visible?

ieb81-8a, image 4, produce (p) visual threshold (+0,04?) of 9 steps;

Black N — Wh

ndde

iboranL \"//

11ed

ndino juid 1o Aejdsip Jo Juswainsesaw pue uoleneAs 10} uo

sd'/ ypd-duQ|ggal/gga

-uolneis

-10Z1¥20¢C

[euarew gn.L

Yl=ap02




